Parts Diagram

Boom 4M
Model: ATV4

27 (5 (8 &7

L ] ao-*'— .
[ BT l-*‘ .

- DETAILB
- SCALE1:3
o __
52 17 {
16
.2-4:
_(20)

&) 64 32 (5 (8
126)

o -
¥ Complete Nozzle Assembly Ordering:

h Nozzle "A"™: 5300-1011 Nozzle Assembly-DCV-Quickconnect-WITH TIP
\g Nozzie "B": 5300-1021 Nozzle Assembly-90 DEGREE-DCV-Quickconnect-WITH TIP

M

DETAIL A NOTE: SPECIFY TIP WHEN ORDERING - Yellow is standard on 3/4m C-Dax Booms

‘-l-“—-
E;JI
~0
)

(]

SCALE1:3

Parts List

Item No. Description Part No. aTy Unit
1 Arm-Boom-ATV4-ZP 1072-1700 2 EA
2 Buffer-Rubber-5L Boom 1400-1600 1 EA
3 Cap-Nozzle-Fan-QC-Red-Incl Gasket 1600-6000 8 EA
4 Centre-Boom-ATV3/4-ZP 1900-0600 1 EA
5 Clamp-Hose-Herbi-E-Ratchet-13.1<>15.1mm-Black-Nylon 2000-0013 2 EA
i} Clamp-Hose-Herbi-F-Ratchet-15.0<=>17_1mm-Black-Nylon 2000-0015 1 EA
¥ Clamp-Hose-Oetiker-Single Ear Stepless-15.3<>18.5mm-5/5 2000-2015 5 EA
8 Clamp-Hose-Oetiker-Single Ear Stepless-20.9<=24 1mm-S/5 2000-2021 8 EA
9 Fastener-Bolt-Hex-8.8 Grade-M10x90-ZP 2840-1090 4 EA
10 Fastener-Machine-Screw-Pan-M6x20-Pozi-ZP 3110-0620 2 EA
1" Fastener-Nut-Nyloc-M6-ZP 31700006 8 EA
12 Fastener-Nut-Nyloc-M10-ZP 3170-0010 4 EA
13 Fastener-Nut-Nyloc-M16-ZP 3170-0016 2 EA
14 Fastener-Nut-Plain-M&-ZP 3180-0006 2 EA
15 Fastener-Pin-Roll-3/16"x1 1/4"-Black Steel 32050400 2 EA
16 Fastener-Self Tap-Screw-Pan-6Gx3/4"-Pozi-ZP 3280-0634 6 EA
17 Fastener-Set Screw-Hex-8.8 Grade-M&x30-ZP 32800630 8 EA
18 Fastener-Washer-Cup-M16-Pressed-ZP 3310-0016 4 EA
19 Fastener-Washer-Flat-M10-ZP 3310-8010 8 EA
20 Filter-Nozzle Tip-50 Mesh-Plastic 3400-5400 B EA
21 Hose-Spray-Delivery-40 Bar-10mm ID-Yellow 4100-0010 1 EA
22 Hose-Spray-Delivery-40 Bar-10mm ID-Yellow 4100-0010 1 EA
23 Hose-Spray-Delivery-40 Bar-10mm ID-Yellow 4100-0010 1 EA
24 Nozzle Body-DCV-QCx22x10-Incl O'Ring-Less Cap 5300-1800 6 EA
25 Nozzle Body-DCV-QCx22x10-90 Degree-Incl O'Ring-Less Cap 5300-1820 2 EA
26 Nozzle-Tip-Wide Range-110WR02-Single 5300-9800 8 EA
27 Pin-Hinge-16x280mm-ZP 6100-4000 2 EA



28
29
30
31
32
33
34
35
36
37
38
39

Pipe-Fitting-Connector-Straight-10 Shank-Incl 1/2BSPF Fly Nut-Br
Pipe-Fitting-Elbow-16 Shankx1/2NPTM-Hose Shank-Nylon
Pipe-Fitting-Nut-Fly-1/2BSPF-Black-Plastic
Pipe-Fitting-Plug-Push In-Barbed Shank-16mm-Plastic-Black
Pipe-Fitting-Quick Release-Male Connectorx8.5 Shank-Brass
Pipe-Fitting-Quick Release-Male Connectorx10 Shank-Brass
Pipe-Fitting-Quick Release-Valve-Stopx8.5 Shank-Brass
Pipe-Fitting-Tee-16 Shankx10 Shankx16 Shank-Plastic
Spacer-ATV Boom-EWST-16x2x50LG-ZP
Spring-Compression-Boom-SL-ZP

Tube-Gas-Semi Rigid-15mm ID-Yellow-Polyethylene
Tube-Gas-Semi Rigid-15mm ID-Yellow-Polyethylene

http:/Mwww.c-dax.co.nz/index.php?page=shop/parts&product_id=17286

6200-1640
6200-2490
6200-5485
6200-6250
6200-7210
6200-7220
6200-7250
6200-9180
8100-1200
8250-1710
8840-3715
8840-3715

BN NOR AN

N NN A

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

22



